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IRIS dataset

iris is a data frame with 150 cases (rows) and 5 features (columns) named

Sepal.Length, Sepal.Width, Petal.Length, Petal.Width, and Species.

Iris Versicolor Iris Setosa Iris Virginica



IRIS dataset

Common way to plot the dataset
Using

- Sepal.Width
- Sepal.Length

Green - Setosa
Red - Versicolor

Black - Virginica

Sepal.Width
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sepal width (cm)

Decision Tree

Decision surface of a decision tree using paired features
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Decision surface of a decision tree using paired features
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Decision Tree

petal length (cm) < 2.45
gini = 0.667

samples = 150 X(2] <= 2.45

value = [50, 50, 50] gini = 0.667

class = setosa samples = 150

value = [50, 50, 50]
petal width (cm) £ 1.75

T N\
gini=0.5

samples = 100 X[S] <=175

value = [0, 50, 50] gini .5

class = versicolor samples = 100
/ value = [0, 50, 50]

~~

R R
gini = 0. = 0.
samples = 3 samples = 3
value = [0, 2, 1] value = [0, 2, 1]
class = versicolor / \




KNN

Shows both uniform and distance weights
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3-Class classification (k = 14, weights = 'distance')
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3-Class classification (k = 14, weights = 'uniform')

setosa
versicolor
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SVM

SVM (polynomial kernel)

Data can make SVM effective or weak

Sepal width

Sepal length



LOF

Local Outlier Factor (LOF)
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